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COMPUTER SCIENCE AND APPLICATIONS
(Theory)

Full Marks : 70
Pass Marks : 21

Time : Three hours

The figures in the margin indicate full marks
: for the questions. .

_ Q. No. 17 carries 1 mark ench 1x8= .8 .
b Q. No.72 cn%v*z'es L niarks eac H ' 0 2x10=20
Q. -No. 3 carries 3 marks each -~ o 3><9 =27
| Q No. 4 Caﬂ'}'e:c, 5 ‘n;arks each ; B 1 5%3 =.1'5 FiL
' Total. =70
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1.  Answer the following : (any eight) . 1x8=8
Ricaican Sioh! 2 Ted 41 8
(n) State two advantages of C++. ..
C++ -3 701 7Rt forall 2
'(b) What is a class 7
Class & ? -
(c)  What is an object ?
Ol')ject‘f% ?
(d) State two data types of C++.
C++ -3 ¥ data type BTE 39|
(e) Define a data structure..
~ Data structure-3 3{@ i
" Wiiat is member functi;)n R
Member functionﬁ? A
(g) | .What' is a database ?
Databaée &2
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()  What is SQL ?
SQL f& ?

(i) What is a binary file ?
Bindry file & 7

(j) - Define c:_onstructor. |

Constructor-3 3¢e8l &2 |

2. Answer the following queétions : (any ten) : 2x10=20

woTe fial el T e foml ¢ (R meot)
(n) What- is function 0verléading ?

Function overloading & ki
(b) Defiﬁe abstract class and concrete class.

Abstract cIasé, IES concfete class—.?i Rteg) ﬁzﬁ |
(C). ‘ Definé a destructor..

| Desfructor-“ﬁ' ﬂi@ IGE

(d) State tﬁe .corﬁmutatiye and associafive law of Boolean algebra.

Boolean algebra-3 commutative W% associative law Tz <41 1.
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() What is packet switching ?
Packet sWitching e .

(/ Define Bandwidth.
Bandwidth-1 @ i |

(g) State two uses of XML.
XML-T 707 89 Smd 34 |

()  Define a Quéue.
Queue-3 KR vl |

(i) Define a Stack.
Stack -¥ & eyl |

() State t%{ro advaﬁtages of T;AN.
LAN -3 757 1 e =11 |

(k) What is data transfer rate ?

5 Data trarngfer tate ﬁ? .'?

fl)' .State the use of Kafnatligh Mé_p.
Karnaugh Map -3 9N T T ;

(rt-z) VVhat is a base (':.Iéss-? ‘ .
Basé class &2
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(1) Define Pointer.

| Pointer-3 7@ wal |

3. . Answer any nine from the following: 3x9=27
SR R w51 ene Saw 3 ¢

(@) ~ Write briefly about the advantages of object oriented programming

language.

Object orientéd programming language -3 JRYIE@R 53¢ 14 |
(b) State the prlocess éf creating and Wi'iting text into a file.
&t file - text create SR> write T GRS TrEd 4|
© Differéntiate ‘pass by value’ from ‘pass by reference’.
‘Pass by value’ 1% “pass 'by reference’ -3 <3y %{?ﬂl

(d) = Write the codes in C++ to declare and initialize a pointer.

Pointer &5t declare % initialize ¥R @ C++-© @bt program

' (e) - Write SQL to create a table named student with 4 fields namely :

SiD, SNAME,'ADDRESS and MA_RKS.-

S ﬁZIT f1e1d RS F"I SQL -9 student W G table create 41

SID SNAME ADDRESS e MARKS
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(f)  Write the differences of Text file and-Binary file.
Text file ™% Binary file-3 A1y B |
(g9 What are the advantages of using SQL ?
SQL @gR 419 Rapmg (& & 2
() Explain the Push and4 POP operations on a stack.
Stack-3 Push 9% POP operations-3 &t ez feral |
i Explain the process of seiection sort with an example.

Selection sort “%fed RA W‘Wi &g, e |

(7) - Explain the process of obtaining Sum of Product (SOP) using Truth
Table. |

Truth Table IFZR I Sum of Product (SOP) ey T Tafetor e
R o | |

(k) Explain the a;ggregate functions of SQL.
SQL-9 aggregate function-1928 AT &2 14 |
@ ‘E>'<plain thfee different types of network topologies.

foMG! (atae (@CeT network topologies-§ R T%T'«’IT ]

(m) Differentiate LAN from WAN. -

LAN ®i% WAN-3 2i¢y a1 -
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(1) ‘Write the advantages of Java Script.
Java Script -3 SRR e |
4. Answer any three from the following : o 5x3=15
(z)  Write a C++ program to add two matrices of order 4 x 4.
uGl 4 x 46@@@ e %%"I?JT%?F{ C++ 8 @bl program frali |
(b) Write a C++ program to implement binary search in an array.
Array €0IS binary search &iCHIs R I C++ - Bl program 13 |
(c)- Explain the concept of multiple inheritence.
| Multiple inheritence-9 &A@ J@ig f%i‘aﬁi
(@) Compare XML with HTML. )
XML % HIML 3 &9 Sl % |
(¢)  Write briefly 'about DDL and DML witﬁ example.
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DDL %1% DML-¥ Rad Swizget s 50 &1 |-
Write a C++ progfam to delete an element from an array.

Array 9O 71 element €51 delete ST C+-ij - bl program &l |
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